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Question Number : 1 Question Id : 4050367312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let a function, ' f R — Rbe defined by

(1,ifx =0
¥)=1+x/xl and let sgn(x)={
e gn(x) |-Lifx <0
Then:
Options :
40503626701 ..l'r is not invertible

s | |
050362670, 1 ) =g~y -1

= 1 ]
i T Iy 1
20503626703, 1 X = I

—_—

i) [ . : -
10503626700, 8 TR Ly e

Question Number : 1 Question Id : 4050367312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



F’FﬂW'f;R — R, f(x)=1+x|x| g

Lafgx=0
qﬁmﬁﬁ%ﬁiﬂﬂﬁ'{snxzj ]

8{] l,ﬂﬁx{f}
g W

Options :

40503626701, | AT T &

L |
s0s03626702, 7 ) = senlx 1)/l -1

_1 i
o e
40503626703. fo(x) = yix

1x)= ¥ =
sosoreaeTos, = sgnEyl -l

Question Number : 1 Question Id : 4050367312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
qRLS Bd f iR — R 2Uf(x)=1+x]x 4ored
U %Y B A YRl

j 1, dx=0 .
sgn(x) = : dl
| -1, x<0
Options :
20503626701, [ i el 2feaca el

s | |
a0s036a670p. 1 ) =g~y -1



_1 :
40503626703, 1 &)
_.1 T =1
x)= sgn(x)|x —1
40503626704. f®) gn( N
Question Number : 2 Question Id : 4050367313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let o be a common root of the equations,
x2—x—=12=0 and AxZ2+10x+3=0

(where A is an integer). If § is the other
root of the second equation, then the

ordered pair (A, B) is equal to

Options :
..f
- 3)
40503626705. * 3)
'
-
%, :T'_g'
40503626706. -
> :
g |
3)

k.

40503626707.

40503626708. *
Question Number : 2 Question Id : 4050367313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AT FHHIO x2—-x—12=0 I
Ax2+10x +3 =0 (& A UF Ui &) F U
TAFS Jd o 81 Al T T FH gha
el B 7, 9l S6iad T (A, B) T E

Options :
..f
5 1)
40503626705, 3)
i
3, -1
LY 3‘)
40503626706. -
{ Y
(>3]
40503626707. ~ 7
..f
3, .l}
40503626708, - 3)

Question Number : 2 Question Id : 4050367313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.

iRl 5 o @ wHlszel x2-x—12=0 211
Ax2 +10x +3 =0« Uil odlsy & (sedl A yells
qval 8). ad oflsd wallsoid 214 oflsr B €iy,
dl $43scl sds (A, B)=

Options :



40503626705. *

%, . 3_,-'
40503626706. -
. \
3,1|
40503626707. * 3)
I "-,
(-3

40503626708. *

Question Number : 3 Question Id : 4050367314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If z=-1+ ME, then which one of the

following is not true ?

Options :
- B
40503626709, Re(Z’) +Re(z)= -2
= g
40503626710, (27} + Im(z7) =542
| H‘; - Re ”3 = ."; e
10503626711, 1MUZ") — Re(z”) =442 =5

: 4 3 =
Re(z3) — Im(2%) = 2 - 7
40503626712, etz )~ Im(z7) V2



Question Number : 3 Question Id : 4050367314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
G z=-1+iJ2 T A =8 A FATTA
T 2

Options :

40503626709, Re(z') +Re(z%)= -2
40503626710. Im(z4) + Im(%) =5v2
40503626711, Im(z*) - Re(2®) = 442 - 5
40503626712. .[“]‘“{247' —Im(z*) =2 -7

Question Number : 3 Question Id : 4050367314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol z =1+ iy2 €, dl Aldariel 5 e

w4l 7
Options :
- O
40503626709, Re(Z) +Re(z”)= -2
o S C oo o
40503626710, m(z ")+ Im(z") 52

| H‘l o J'”H — ."; e
40503626711, 1M(Z") — Re(z”) =442 =5



' 4 3 _
Re(z}) - Im(z2) = 2 = 7
40503626712, CF ) im(z) V2

Question Number : 4 Question Id : 4050367315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For Be(0, w/ 2), Be(, 27) and BeR, the value

of the determinant

|cos2a cos(a + 0) —sin(« + 0)

SIn sint cost
[Bcosa cosft) sint
Options :

40503626713 is independent of a.

40503626714, 5 independent of (3.

is indep endent of 6.
40503626715.

40503626716. depends on all o, § and 6.

Question Number : 4 Question Id : 4050367315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



0e(0, /2), Be(mr, 27) T Be R & Tow ARfor®

|cos2a cos(a + 0) —sin(« + 0)
Sin sint) cosb) 1 T -
[Acoso cost sint

Options :
40503626713, @ 1 T T

40503626714. s i

40503626715, 9 T A L1

o, B L1 0 Ta T T = B
40503626716.

Question Number : 4 Question Id : 4050367315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

'
ae 0, 9 Oe(, 21) 27 Be R WP, [Fzuus
LN = J

|cos2a cos(a + 0) —sin(« + 8)

Sino sinfl cost) Al Baa :

[Frosa cosf) sinf)
Options :
40503626713, @ 4l 2 .

40503626714, B Al ¥AHL O,



40503626715, 0 4l 2ad &.

40503626716, @ P i 0 GEley Y2 2LAlA 9.

Question Number : 5 Question Id : 4050367316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
| (o 1 2)

leof =11 2 3 , aeR and B= [bij]FE w3
2 X 1]

such that AB=1l, r ¢ in R. If

-

bay = %r and |adjB| =15, then |adj(AB)

equals :
Options :

40503626717.

40503626718.

3,

40503626719.

48
40503626720.

Question Number : 5 Question Id : 4050367316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



o 1
A= |1 2
CE N R

JFR & fF AB=1l, r = 0 (reR)1 3Afg

W2

by, = %r T |adjB|=1> €, T |adj(AB)

A T
Options :

412
40503626717.

~12
40503626718. =

40503626719 2°

43
40503626720.

Question Number : 5 Question Id : 4050367316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

a 1 2

i{ﬁT& A=|1 2 3 , ek q"l'-:i. B= [}Jjj];.; % 3
x.'f‘ 1 1/.

Ek'aﬂ J‘ﬁLBzI'I,-.]‘ = ) {I'ER]. l=";i'\t h*;z = %l’

@l [adjB| =17 €I, l |adj(AB)|=
Options :



412
40503626717.

~12
40503626718. <

40503626719 2°

._18
40503626720.

Question Number : 6 Question Id : 4050367317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let a,, 8, 85 8, and a be in A.P. with the
common difference greater than 2. If
. 5

> a; =30 and aj'a,ay-a;-as =3840, then
=1

a,-a; is equal to:
Options :
40503626721, 82

-12
40503626722. e

=

40503626723, 128

40503626724, — 82

Question Number : 6 Question Id : 4050367317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AT a,, a,, a,, a, 91 a; TF TR 94 8 3

ﬁ@mﬂﬁﬁmzﬁamm%rﬂéiﬁi=m
=1

q9l ay-ay ayay as = 3840 @ al'aSEﬂﬁT% :

Options :

40503626721, 82

-12
40503626722. e

40503626723, 128

40503626724, — 82

Question Number : 6 Question Id : 4050367317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

QRibay, a,, a, a, @rlas #uick el (AP) 4l
89, sedl MBI dsled 2 sl Hiel ©.  od

5
lai =30 i a,-a,7a,7a,°a; =3840 €14, dl

Options :
40503626721, 52



-12
40503626722. s

40503626723, 128

40503626724, — 82

Question Number : 7 Question Id : 4050367318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let the functions f and g be defined as
fx)=2cos|x — 2|+ 3|x| sinlx| and g(x) = x>+ x.
[f S be the set of points where the function
(fog)(x) is not differentiable, thenS is equal
to:

Options :
40503626725, (L

40503626726. 0l

40503626727, 10 11

40503626728, ¢ (an empty set)

Question Number : 7 Question Id : 4050367318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



f(x) =2cos|x — 2| + 3|x| sin|x| T g(x) =2° + x.
e 37 forga, el (fog)(x) ST T &,
FUTFISE, AS T E :
Options :
40503626725, 11

40503626726. 0}

40503626727, 10 11

40503626728, ¢ (TP 10 T=4)

Question Number : 7 Question Id : 4050367318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Rl (S fairg @t

flx) =2cos|x — 2| + 3|x| sinjx il g(x)= r+x
Yool cqrulfdd sl el . od S 2l
[Gig 2L 2191 €14 5 sl [BEM (fog)(x) [Esa-dl
A €, dl S=

Options :

40503626725, 11}

40503626726. 0}

40503626727, 10 11



& (vl arel)
40503626728.

Question Number : 8 Question Id : 4050367319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function on
R such that f(0)=4 and the function,

2y 5 d i
Foix) + X 9 is monotonically

k| =

g(x) =

increasing in R. Then f(1) cannot be :

Options :

.’?
40503626720, 23

40503626730, 3V2

40503626731. 4

40503626732, 22

Question Number : 8 Question Id : 4050367319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HA R T UF e [ S 91 Sawerd ¢, s
faw  f(0)=4 & qWM  FHEA

8x) = %f‘Z{IJ H3x 5, RH Frem A # )

@l f(1) & & T
Options :

.’?
40503626729, 23

32

40503626730.

40503626731. 4

40503626732 22

Question Number : 8 Question Id : 4050367319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ARl f @t R g-[sady [Ghy 8, sal
. 1 :
f(0)=42 B g(x) = 5 f2x)+323 -5

2 R AL 2isyel qad [@ey 5. dl f(1)
A gl b,

Options :

40503626729, 23

32

40503626730.



40503626731, 4

40503626732, 22

Question Number : 9 Question Id : 4050367320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let f(x)= (222 —9x+ 11)e¥, — o< x < =®.

Then fhas :

Options :
1
a local maxima at x = = and a local
40503626733 minima at x=2.
= 1
a local minima at x = = and a local
L
40503626734, Maxima atx=2.
neither a local maxima nor a local
I |
minima at X = 5
40503626735. -
neither a local maxima nor a local
minima at x=2.
40503626736.

Question Number : 9 Question Id : 4050367320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
M f(x) = (22 —9x+11)-e¥, — 0<x < ®
?ﬁf =l :
Options :
1 i
I=;me%ﬁmx=g

40503626733, T T FfTeS 2
x=%@@mﬁ'ﬁfﬁ%%ﬁmx=2

40503626734, o T 3= )

—

\

X = ;Hmwﬁm?ﬁrﬁ%qﬁwﬁm
40503626735, =TS &

x=2 9 9 ™ 3F=s T 8 =

40503626736, TS €1

Question Number : 9 Question Id : 4050367320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
URLES flx)=(222— 9% +11)e¥, —o< x < =
Fi.\'l.l_.lr a:

Options :



X = — P, A HeETH 2 x=2

1
2
DY 22ALY ~HrdH 8.
40503626733. =

_— N
x = o MM 2l YA 2 x=2

3 -
40503626734, WL 22U HrH ©.

I -
= P 22l HeTim ueL =2l 5

) 7]
40503626735, R Ay ugL Rl

x=2 2P I Yy veL 4] 5

) Lr]
40503626736, 2ulAlL et L 2l

Question Number : 10 Question Id : 4050367321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If forx>0,
c-“'l'si_n{g I‘J}TW s
- 2 dx =ev¥*- f(x) + C-
f 2 @)

where C is a constant of integration, then
f(x) is equal to :

Options :

3
— cosv";

40503626737. V2



a.
INE sinafx
40503626738.

s
40503626739, N4 SINX

40503626740, V2 cosvx

Question Number : 10 Question Id : 4050367321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Afg x > 0 & T
, - e
g sin| i | JIW _
LT Jx - -
dx =ev"- fix) + C-
I = f(x)

STl C Ueh THIERTH 379 €, ol f(x) T T

Options :

3
'—j cnsv";

40503626737. V2

.
skl [
40503626738.

40503626739, V2 SINVX

40503626740, V2 cosvx



Question Number : 10 Question Id : 4050367321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
sd x >0 HLE,

O

oVX sini I I \.-'llI| o

A ix i

d-l- = ':"\ ) ||r )+ Cr

I N f@)

sedl C o dsddAdl 2uals ¢ld, dl

o=
Options :

3
'—j cns-u";

40503626737. V2

A7
SN~ X

40503626738,

g
40503626739, V< SN

40503626740, N2 cosVx

Question Number : 11 Question Id : 4050367322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



-

T giny sinw"ﬁ
If y(x)= j wy T o = A8, fhen
™4ae 1+ cos Jo
1 '{ ullp al
j%_ilj is equal to:
Options :
aw
—
40503626741, V2
. a0
12
40503626742.
i 13
40503626743, ©
w
40503626744,

Question Number : 11 Question Id : 4050367322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

X sinx siny0

afg y(x) = j ,, ——5—4d0 2, i
ThAe 14 cos” o
! -Trl‘l )
lf{ji| T E :
\ &
Options :
m
32

40503626741.



A

40503626742.

o4

40503626743.
T
"%

40503626744. -

Question Number : 11 Question Id : 4050367322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
& x siny siny - -
st y(x) =j PR Ty 1 W

= 14 coszn"ﬁ

k1

Il{ m
LFIKEJ

Options :

L
ra
r3]

40503626741.

~EN

40503626742.

S

40503626743.

'__,._}l-_'1

40503626744.



Question Number : 12 Question Id : 4050367323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The area (in sq. units) of the region
{(x, y)eR?: 2x| +|y|=2 and x +y=1}is :

Options :

3| =

40503626745.

WK

40503626746.

R | =

40503626747.

W

40503626748.

Question Number : 12 Question Id : 4050367323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

& {(x, yjeﬂz D 2x|+|y=2 A M x +y=1) A
&A% (1 i H) ®
Options :

1
40503626745,



WM

40503626746.

M| =

40503626747.

Wl |

40503626748.

Question Number : 12 Question Id : 4050367323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
MEL {(x, y)eR2 : 2|+ [y|<2 2 x +y =1}
gissu (3l 2isyl) o

Options :

3| =

40503626745.

WK

40503626746.

R | =

40503626747.

W

40503626748.



Question Number : 13 Question Id : 4050367324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let ABC be a triangle such that the vertex
A has coordinates (—3, 1). If the equation
of the median through B be 2x+y—3=0
and the equation of the bisector of angle C

be 7x —4y—1=0, then the equation of the

line BC is:
Options :
40503626749, 12X +y=50
40503626750, X Y=7
40503626751, 1BX~Yy=49
~_._ G q g -
40503626752, X OY=0

Question Number : 13 Question Id : 4050367324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T ABC U Fay & forms 3id A & fdwnis
(-3, 1) &1 afz B 7 @it 78 wifem=m
THIFHIN 2x+y—3=0F 4 F0 C &
THGHSE H THE Sy —4y—1=0 T, ™
@1 BC 1 HHH €

Options :

40503626749, 12X ty=>50



dx—y=7

40503626750.

40503626751, 1BX~Yy=49
~__ G 1 e -

40503626752, X ~OY=0

Question Number : 13 Question Id : 4050367324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
qizls BEislel ABCHI RIS A AL s (-3, 1)
o, ot B el vz adl wewpud wdlszel
2x+y—3 =0 €l 24 BU C AL 5101 [gousrs
UH{ls20l 7x —4y—1=0 €14, dl vl BC
wdlszel

Options :

40503626749, 12X TY=50

40503626750, X Y=7

40503626751, 1BXYy=49

H_____q' s
40503626752, X 2Y=0

Question Number : 14 Question Id : 4050367325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



If the ellipse centered at the origin has a
focus at (0, 3) and the corresponding
directrix is y=09, then which one of the

following is not true for this ellipse ?
Options :

Leneth of its minor axis is
40503626753, © 672

Length of its latus rectum is .4\@
40503626754.

Point {w‘g , 24/3 ) Lies on it
40503626755. '

40503626756, 1 omt (V6, ~3v2) lies on it

Question Number : 14 Question Id : 4050367325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T A (0, 3) W E a4 Hd FEa y =9 %, @
= Eeg & fou = | | #E T u ge @
g7

Options :

THE oY I F TR |
40503626753, 7 3 632 ®

=TT e S #4403 2
40503626754, 43



f‘aﬁ{x@, 24/3) 3m R fiera 2

40503626755.

= (V6. —3v2) :
40503626756, g (v | 55 o feerd 2

Question Number : 14 Question Id : 4050367325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
sl Guaedd] s+ Gopilolg €, ddl Wl (0, 3)
Y2 €l 2 el 23U [Fufist y=9 €4, dl2
Guaay w2 lA-isll 24 w2 417

Options :

L ol el dens 5.
40503626753, e 62

40503626754, U Alltieodl dowd 4.3 ©.

Cig (V6, 23 ) dett wr 2084 .
40503626755, = - 2

i (V6, — 342) o oy
40503626756, "3 (Ve | At uz 2udg ©

Question Number : 15 Question Id : 4050367326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



If a hyperbola has length of its transverse
axis -=\.'E and it has the same focias thatof
the ellipse, Ax2 4 3y3= 24, then this
hyperbola also passes through the point

whose coordinates are :

(25 %)

40503626757. * /

Options :

g ]
&1

(%]

&
k3 |
M, -

40503626758. -

-
:
e,

40503626759. [

F s \Ek“

3 )

-

40503626760. *

Question Number : 15 Question Id : 4050367326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e TF AR F SFTIEI A4 FHI o=
V2 % g T el 9@ # W e
4x2 + 3y2 =24 F1 2, T 9% Afaweey 34 fag
F off B o 8, Foen e ¥
Options :



{ £ %W

40503626757. 2)
3

40503626758, * o
&Y
40503626759. b

(8, ﬂ“‘

5B

40503626760. *

Question Number : 15 Question Id : 4050367326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
od @i 2A[caeudl You 2 Al dowd = 7 @i
dedl Atz du Guaay 4x2+3y2=24 -l
AGAL A €, L 24 2Adaey
3 o (G uiail wel wur 2l

Options :
{ 305 %W
40503626757. * 2)
(243, 2)
2)

40503626758. *



.’1 :
.\Q;

40503626759.

1
40503626760. (V6" 4

Question Number : 16 Question Id : 4050367327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let P be the point of intersection of the
plane, 4x—6y+14z=57 with the line
joining the points A(2, 3, 5) and B(1, —1,4).
If BP=AAP, then the value of A is :
Options :

WO | =

40503626761.

WO

40503626762.

;..J||—-|'

40503626763.

40503626764.

Question Number : 16 Question Id : 4050367327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



AT FHAA 4x — 6y + 14z =57 &1 fagafl
A(2,3,5) @ B(1, —1, 4) F1 THa aret W
Y wfa=ed fag P21 afe BP=AAP, dT A =1
AT
Options :

WO | =

40503626761.

k=]

40503626762.

:_.-.}||—.|'

40503626763.

40503626764. -

Question Number : 16 Question Id : 4050367327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

QLS P2l ¥Hdd 4y — 6y + 14z="57 24 [Gigail

A(2,3,5) da B(1, —1,4) - sdsell 2uu 4 88

(G ©. sd BP=AAP ¢ld, dl A -l Bud
1N

Options :
1
40503626761, ¢

40503626762, ¢



:_...}||_.|'

40503626763.

40503626764.

Question Number : 17 Question Id : 4050367328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A six faced biased dice is so loaded that in
any of its toss getting any of even scores is
equally likely and the probability of getting
an even score is three times the probability
of getting an odd score. This dice is tossed
repeatedly until a six is obtained. If X

denotes the number of tosses required, then

P(X<4)is:
Options :
19
,,'_3
40503626765. -
7
2
40503626766.
61

43
40503626767.

397
{12]3

40503626768.



Question Number : 17 Question Id : 4050367328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
saF Tt 32 | Tt «ft 9m " 1 &1
TN (equally likely) ¥ 721 39 T HH
T F A F AIAFal (99 =23 F A4 F
ifasar & @9 T €1 39 9 F 99 a6
IS S & STl oo feh b B <1 9T &l o4 |
IS, WMPX<4) T :
Options :

19

?
40503626765. *

37

__13
40503626766.

61

43
40503626767.

397
(12)?

40503626768.

Question Number : 17 Question Id : 4050367328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
B lly@ll UL WA A 6ld dell 2i5 Wi
ol Yd duR sl 2uedl 8 5 ol adl st
YL GelonH 519 el 4 R Ho o Huieyd]
69, 2l el YR 3o uRens 4ol d-l MeusHL 21
Al U2 2144 lReuH 1oL d-l HeisHL s3d 3
el 4y 8. sl Yl 64w Al Yell W
Gl »ud . od X 24 s3] GesrullAl v
galld, dl P(X < 4)=

Options :

19
40503626765, 3

43
40503626766.

43
40503626767.

397
{1 213

40503626768.

Question Number : 18 Question Id : 4050367329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If 2siny —cos2x =1, then :

Options :



4 . =
40503626769, 05 X —cosx =3 — 5

2 Ay e e — -
40503626770, 2\C0sx —cosTx)=—1

LR i
40503626771, S A — s X = AR~

A RN I OV
40503626772, ‘B E SR} =1

Question Number : 18 Question Id : 4050367329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ifa 2siny— cos2x=17%, 91 ;

Options :
s =
40503626769, 08 ¥ TC€O8 X =3 —
2 = BE 2y — —
40503626770, 2(C0s" X —cosx)= —1

L i
40503626771, S X — S X = I

i R B O
40503626772, ' AEEE TSI} =1

Question Number : 18 Question Id : 4050367329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

sd 2sinx —cos2x=1 @’LH, dl



Options :
i

a0 . |
40503626769, 05 X ~€osTx =3 — 5

e oS
40503626770, 2lcos’x —cosx)=—1

oy i
40503626771, St X S X = y

Nsintr — sinZy) =
40503626772, 2SI ¥ —sin"x) =1

Question Number : 19 Question Id : 4050367330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e e |
Let a, b, ¢ be any three non-coplanar

vectors. If the points

. —— - —>\' . —3 —3
B[a +2b I3c|arndC(?a hc}arc-
LY 7 A, A
collinear, then A is equal to :

Options :
40503626773, 1

40503626774.

40503626775. 2



40503626776.

Question Number : 19 Question Id : 4050367330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HHAT :, E, P I3 qF AHETAT (non-
coplanar) dfger Iig a3

r—'p =¥ =
Al—-2a +3b +5¢c |-
\ J
I % '
e —— — g H—\. —
BathISc‘?—[E{TL 7a —AcC
\, A \ /

TrE g, a9 A FE T
Options :
40503626773, .

40503626774.

40503626775 2

2
40503626776.

Question Number : 19 Question Id : 4050367330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



!
B(a +2b + 3¢ ‘ | C(?: h?}
LY A ' A
MuIL S, ol A Al Bud 214,
Options :

40503626773. 1
40503626774

40503626775 2

40503626776.

Question Number : 20 Question Id : 4050367331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is a tautology ?

Options :
~ b B
405036267717. (p ) 1
-2 >~
40503626778. (P ) 1

40503626779, P 7 D <P



40503626780, P 7 4 P

Question Number : 20 Question Id : 4050367331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= 8 [ 3 = U T § 7
Options :
i — L — L
40503626777. (P D 1

(P—q < ~q

40503626778.

— >
40503626779, ~ P 7 D =P
40503626780, ~ P 7D 7P

Question Number : 20 Question Id : 4050367331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ALzl 54 Fesicd 97

Options :
& —+ L —+ L
40503626777. (P D 1
—+ 2
40503626778. P ) 1

40503626779, P 7 D =P
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40503626780.

Sub-Section Number : 2
Sub-Section Id : 405036540
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 4050367332 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the sum of all possible 4 digit numbers

formed using digits 1, 2, 3, 4 without

repetition, is 1111k, then k is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 21 Question Id : 4050367332 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afg 3 1, 2, 3, 4 F1 TATT FLHh, 3Ahl Hl fo70

SIeA, =G T B 9T 4 331 F e

1 AMTFA 1111k 2, 91 k SR |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range



Text Areas : PlainText
Possible Answers :

51t05.002

Question Number : 21 Question Id : 4050367332 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

ol YelodA W1 2isl 1, 2, 3, 4 AL Guaisel

el 4 2isi-l eteller 2 AvaiAL Hel

1111k ¢4, dlk=___
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :
5 to 5.002

Question Number : 22 Question Id : 4050367333 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If x=cosect —sinf and y =cosec’d —sin’f,

dy

x|2
dx i

' ¥
<< .;Ir then {.1'2 | —1:| l 35;[}2

is equalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002



Question Number : 22 Question Id : 4050367333 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A1g x =cosech — sinf T4y =cosec? —sin’6,

. ~ | _ ’du‘z
xS 2 . 6.2

0<6< : g, (2" +4) I S | 25y

ELIELE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 22 Question Id : 4050367333 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

-

sd x = cosech — sinf ¥ir y=cosec’ —sin’0,

0<b< % €13, dl

:xz I—l:ll

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.002

Question Number : 23 Question Id : 4050367334 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the function f:N — R satisfy
flx+y)=flx)f(y)forall x,ye Nand f(1)=2.

50 B
If }El.}r{"l Fk) = AM2"-1) | then A +B is

equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 23 Question Id : 4050367334 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A %eA f:N — R, A x,y e N & foru
flx+y) =f(x)f(y) F T T T AA1f(1) =2

)

A
B X U =21 A

ERiCTe |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.002

Question Number : 23 Question Id : 4050367334 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

qrRls B84 f:N — R 9L 835 x, ye N 42

flx+y)=f(x)-fly) - ¥HAUA 52 S 2 f(1) =2

. X B i 5
ol LEI,IH Fk) = AM27-1) @y, dl A+B=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 24 Question Id : 4050367335 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the circle, (x—a)?+ (y —b)*=8 and the

parabola, L.r2=4x have a common tangent

at the point P(1, 2). If C is the centre of the

circle and 5 is the focus of the parabola, then

the area (in sq. units) of ACPS is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 24 Question Id : 4050367335 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

A 99, (x—a)?+ (y—b)2=8 a4 Wacd
y2=4x i fag P(1, 2) W U= Ivafe w79
@ g1 AT 99 F F=E C & 99 WA H
S 7, d ACPS F1 &5IFet (T sHhieai )
WEE |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 24 Question Id : 4050367335 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

YiRls Adn (x—a)?+ (y —b)2=8, (b > 0) 21
Y 2 =4 A [H5P(1, 2) 240100 HHI 242ls
9. ol C 2 adnid 55 @l 24 S 2wl
AUt €14, dl ACPS « #os0 (Ul @isuu)
_____ €l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

51t05.002

Question Number : 25 Question Id : 4050367336 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If y=y(x) is a solution of the differential

equation, x% =y(2 -3xy), x > 0 with

. 13
y(1)=1, then L-‘1 Z | isequal to __
=,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 25 Question Id : 4050367336 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ffg HTHe FHIHTT x% =y(2 —3xy), x>0
fag® faw y(1)=1 3%, = & y=y(x) T,
T )
yl\_I,J WEE |
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range



Text Areas : PlainText
Possible Answers :

51t05.002

Question Number : 25 Question Id : 4050367336 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

sd y=y(x) 1 [Asa  wdlsa
x% = y(2-3xy), x > 0 -l G5a €4, ordl

fl‘\
4)

y(1)=1,d ¥
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Aptitude Test
Section Id : 405036259
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes



Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 405036541
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 4050367337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options :

40503626786.

40503626787.

40503626788.

40503626789.



Question Number : 26 Question Id : 4050367337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 - D Y9 HAFa H U 9% F U ¥4 ] GW@E T ¥ SHE Wel T 9V, SR ehfadl | 9

40503626786.

40503626787.

40503626788.

40503626789.

Question Number : 26 Question Id : 4050367337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3 - D U 2 51 215 ddd 2 el B, sriel 2aglaeimizl wud @ Gl 224 (top view) 2UEL

Options :

40503626786.

40503626787.

40503626788.

40503626789.

Question Number : 27 Question Id : 4050367338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options :

40503626790.

40503626791.

40503626792.

40503626793.

Question Number : 27 Question Id : 4050367338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

-
-
.-"'-'
-

40503626790.

40503626791.

40503626792.

40503626793.

Question Number : 27 Question Id : 4050367338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



3 - D M whigld 510 215 drdd £t vl 8. srdiel waglazimizl wud W Gwl £ (top view) 2UEL

Options :

40503626790.

40503626791.

40503626792.

40503626793.

Question Number : 28 Question Id : 4050367339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options :

40503626794, !

40503626795.

40503626796. |

40503626797. |

Question Number : 28 Question Id : 4050367339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626794,

40503626795.

40503626796.

40503626797.

Question Number : 28 Question Id : 4050367339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626794, .

40503626795.

40503626796. |

40503626797. |

Question Number : 29 Question Id : 4050367340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Options :

_L_

40503626798.

’_L_

40503626799.

_L_

40503626800.

’_L_

40503626801.

Question Number : 29 Question Id : 4050367340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503626798.

40503626799.

40503626800.

’_L_

40503626801.

Question Number : 29 Question Id : 4050367340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503626798.

40503626799.

40503626800.

’_L_

40503626801.

Question Number : 30 Question Id : 4050367341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The3-D figure shows the view of an nhject. Idc-ntif}-' the correct top view from amongst the
answer figures.
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Options :

40503626802. l .
1
40503626803.
]
40503626804.
I
40503626805.

Question Number : 30 Question Id : 4050367341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626802.

40503626803.

40503626804.

40503626805.

Question Number : 30 Question Id : 4050367341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626802.

40503626803.

40503626804.

40503626805.

Question Number : 31 Question Id : 4050367342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503626806.

40503626807.

40503626808.

40503626809. |

Question Number : 31 Question Id : 4050367342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626806.

40503626807. E—ll—

1T

40503626808. ——
M

[ 1

40503626809.

Question Number : 31 Question Id : 4050367342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626806.

40503626808.

— 1
40503626807. E_ll—
—
—

40503626809.

Question Number : 32 Question Id : 4050367343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503626810. |

40503626811.

1
]
40503626812. |

40503626813.

Question Number : 32 Question Id : 4050367343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626810. |

40503626811.

—
]
40503626812, |

40503626813.

Question Number : 32 Question Id : 4050367343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626810, |

40503626811.

|
]
40503626812. |

40503626813.

Question Number : 33 Question Id : 4050367344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

"
]
L ~,

o, -
e _,..-'..-___.-'. :
o
S N
g
SN
|

—
~
e
.-"-'.

i o
e
. o

Options :

40503626814.

40503626815.

40503626816.

o

40503626817.

Question Number : 33 Question Id : 4050367344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626814.

40503626815.

b,
=,
T

40503626817.

Question Number : 33 Question Id : 4050367344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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s
-

=L

o,

Options :

40503626814.

40503626815.

40503626816.

o

40503626817.

Question Number : 34 Question Id : 4050367345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503626818. %
=
40503626819.

40503626820.

E=

40503626821.

Question Number : 34 Question Id : 4050367345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626818.

u

B

40503626819. :

40503626820.

E=

40503626821.

Question Number : 34 Question Id : 4050367345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



"
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Options :

40503626818. %
=
40503626819.

40503626820.

=

40503626821.

Question Number : 35 Question Id : 4050367346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503626822. %
40503626823 %
0
40503626824
ﬁ
40503626825, |

Question Number : 35 Question Id : 4050367346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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W
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T
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Options :

40503626822. %

40503626823. %
40503626824
40503626825. !

Question Number : 35 Question Id : 4050367346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626822. %
40503626823. %
0
40503626824,
=
40503626825. '

Question Number : 36 Question Id : 4050367347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

]

40503626826, ———

]

[
40503626827, L——

=] |

|
40503626828, ——

=l

40503626829.

Question Number : 36 Question Id : 4050367347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

A]

40503626826, ———

]

[
40503626827 L—

] ]

[
40503626828, ———

=

40503626829,

Question Number : 36 Question Id : 4050367347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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b
.
e

Options :

]

40503626826, ———

]

[
40503626827, L——

]

[
40503626828, ——

]

40503626829, '

Question Number : 37 Question Id : 4050367348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :
40503626830, |

N
40503626831, |

|
40503626832. |

40503626833. Dé

Question Number : 37 Question Id : 4050367348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
40503626830, |

N
40503626831, |

|
40503626832, |

40503626833. Dé

Question Number : 37 Question Id : 4050367348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626830, |

N
40503626831, |

|
40503626832, |

40503626833. Dé

Question Number : 38 Question Id : 4050367349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

/

Options :

40503626834. g

_ []

40503626835. |

40503626836. £
40503626837. g

Question Number : 38 Question Id : 4050367349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626834.

40503626835.

40503626836.

]
I
40503626837. g

Question Number : 38 Question Id : 4050367349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

-
40503626834.
=

40503626835. |

40503626836. ﬁ
40503626837. g

Question Number : 39 Question Id : 4050367350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

fos
r:;."--q
Vs
o~ L

P,

e e -~
T
."\-\._'I_.-"

"
-
g
[ ™
h
"

Options :

40503626838, é

’_I:

40503626839, L—

o
|
40503626840, LI—

IJ:

40503626841, |

Question Number : 39 Question Id : 4050367350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

|_|:

40503626838, ——

’_I:

40503626839, L—

e
[
40503626840, H—

IJ:

40503626841, |

Question Number : 39 Question Id : 4050367350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626838. é

’_I:

40503626839, L—

.
[
40503626840, L—

IJ:

40503626841, |

Question Number : 40 Question Id : 4050367351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

iy
q’.’[“‘[-l
g .
- .-':‘
-

P

Options :

40503626842. é

Al

40503626843, ———

| []

40503626844, ———
40503626845. Eé

Question Number : 40 Question Id : 4050367351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626842. é

Al

40503626843, ———

| []

40503626844, ———
40503626845, Eé

Question Number : 40 Question Id : 4050367351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503626842. é

Al

40503626843, ———

|—
[
40503626844, ———

40503626845. Eé

Question Number : 41 Question Id : 4050367352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

X

X
Options :
40503626846. EL
40503626847.
40503626848. '
40503626849.

Question Number : 41 Question Id : 4050367352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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£

Options :

X

40503626846.

40503626847.

40503626848.

P s 1 o

40503626849.

Question Number : 41 Question Id : 4050367352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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s

Options :

X

40503626846.

40503626847.

40503626848.

P s P o

40503626849.

Question Number : 42 Question Id : 4050367353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

'
£ A
-:'_-‘-.' "'-] '.I
X
Options :
.II-:-_:I \ |
[t
40503626850, ——=
I\J |
40503626851, ——

...;..\_.__l| \_L\

40503626852, —=
\ :"‘j;;
.'I [

40503626853, —=2

Question Number : 42 Question Id : 4050367353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
X
Options :
=2
g
40503626850, ——=
40503626851, ——

...:‘-\_.__ll \ :
[
40503626852, ——
AN :;;
.'I [
40503626853, —==

Question Number : 42 Question Id : 4050367353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
2 A
| \
X
Options :
";I'_':':;- \
40503626850, ——=

40503626851, ——

o b
|III l.---. -
40503626852, ——2
NS
[
40503626853, —x2

Question Number : 43 Question Id : 4050367354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

Options :

40503626854.

40503626855.

40503626856.

40503626857.

Question Number : 43 Question Id : 4050367354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
f"j;{
< L7
esiaie
X
Options :
\-;.- \--
TQJE
40503626854, ————
i
v )
40503626855, 1
v 1:-'2
40503626856. I

40503626857.

Question Number : 43 Question Id : 4050367354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
w’_\" ir—
X

Options :

S
40503626854, ———

P

'-.:_:---f 7
40503626855, 1

*'\'{ 1:__1
40503626856. “
40503626857

Question Number : 44 Question Id : 4050367355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the answer [ igures is the correct mirror image of the pmhlc-m figurc- with respect
toX-X?

X
\,av"-{/
i J,.f ’jlr”
L | "\_
X
Options :
11- I:v' o il
"‘;J,““---‘j
40503626858, L4
B,

40503626859, =—=

40503626860, £

40503626861, E1Z

Question Number : 44 Question Id : 4050367355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
s
Z A
T ed o
x
Options :
\:']I:_I"\:‘:.-/
..x:?!l\._.‘\.-:l
40503626858, L <
-H‘.ll. - _"_'-;.
40503626859, L1 L2
SN
40503626860, B4~
:4 L
"4:-\._ _ _l:\..nf
40503626861, E1Z

Question Number : 44 Question Id : 4050367355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
' _--I./
—.»*':"'-?‘llf' M
i '..fjl -
i I
Vol s
X
Options :
N
N
L
A

40503626858. =

40503626859. =

40503626860, =

40503626861, K2

Question Number : 45 Question Id : 4050367356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

X
J |
—
X
Options :
L
40503626862. '
il
1L
40503626863. '
gl
_||_
40503626864 '
L
=
40503626865. !

Question Number : 45 Question Id : 4050367356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
J |
i
X
Options :
L
40503626862. '
il
1L
40503626863. '
gl
_|l_
40503626864 !
3
=
40503626865. '

Question Number : 45 Question Id : 4050367356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
|
—
X
Options :
2l
40503626862. '
il
1L
40503626863. '
gl
_|I_
40503626864 !
L
=i
40503626865. '

Question Number : 46 Question Id : 4050367357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figurc- out of the pmblc-m t’igurr_-s given below.



Options :

40503626866.

40503626867.

40503626868.

40503626869.

Question Number : 46 Question Id : 4050367357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== &1 T 9 SRl | 9 faum sefa seenty |
Options :

40503626866.



40503626867.

40503626868.

40503626869.

Question Number : 46 Question Id : 4050367357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Al2 2uue Ut 2aglazimial By 2ugld (odd figure) 2l

Options :

40503626866.

40503626867.




40503626868.

40503626869.

Question Number : 47 Question Id : 4050367358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503626870.

40503626871.

e

40503626872.




40503626873.

Question Number : 47 Question Id : 4050367358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A= &1 T w9 Sepfadl § 9 favm st e |

Options :

40503626870. ”'-;}
]

40503626871,

40503626872. f i |

40503626873.



Question Number : 47 Question Id : 4050367358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Al e wa 2aglasimiel By 2ugld (odd figure) 2LAL

Options :
40503626870. i g
]
40503626871.
40503626872. e \
40503626873, l ) _#,»:'-

Question Number : 48 Question Id : 4050367359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :



40503626874.
40503626875.
40503626876.
( ]
e
40503626877.

Question Number : 48 Question Id : 4050367359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= &1 T weR ol § 4 faam st vemt |
Options :

L1

40503626874.



40503626875.
40503626876.
( ]
S
40503626877.

Question Number : 48 Question Id : 4050367359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A& wuue Ut wiglazimizl (fy wugld (odd figure) 2l
Options :

L1

40503626874.

40503626875.




40503626876.

40503626877.

Question Number : 49 Question Id : 4050367360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figurc- out of the pmblem t’ig ures given below.

Options :
40503626878.

-+
40503626879.

40503626880.




1_|_H_+L

40503626881.

Question Number : 49 Question Id : 4050367360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= 31 TR g il W H faun S T |

Options :
40503626878.

+—+—+
40503626879.
40503626880.

40503626881.



Question Number : 49 Question Id : 4050367360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Al Ut M 2aglaisiel [y 2ugld (odd figure) 21l

Options :
40503626878.

+—+
40503626879.
40503626880.
40503626881.

Question Number : 50 Question Id : 4050367361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the pmhlc-m figures given below.



Options :

T
L]
LA
40503626882.
40503626883, _
.r.ﬁ_f'":._ N
A
5 \/_ \}
40503626884
e
40503626885.

Question Number : 50 Question Id : 4050367361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= =t T weA sefadl § H famm st ey |
Options :

40503626882.



5/"".; ;.-"\‘..

i

M
40503626883.

W

; _....-—':.'p‘_f"--ll

\ \/_ o
40503626884

e
40503626885.

Question Number : 50 Question Id : 4050367361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AAl2 2aue dart 2ugldzisiEl [fu 2ugld (odd figure) 2LEL

Options :

ap

L)

il
40503626882.

5/"".; ;.-"\‘..

L

L
40503626883.



.r.ﬁﬂ":. P

; _'-.____:.I,‘f___.-l

5 \/_ b
40503626884.

[
40503626885.

Question Number : 51 Question Id : 4050367362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

/[x.

Options :

Al

40503626886.

40503626887. [1]




40503626888. L] ’_H

40503626889. L1

Question Number : 51 Question Id : 4050367362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
W ATH{d H g S 9y femeE T ¥ 9 6 fe H e g S AGadl 3 9 9e 9
T T |

[l —

Options :

Al

40503626887. mm’i—‘

40503626886.




40503626888. L] W
40503626889. L] ’_H

Question Number : 51 Question Id : 4050367362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

w2l szells daqaid Gul 224 (top view) “dldsiHl 2uey &, dlaedl Eausl sddi, seauet
witg Aozl 2ad 4e Grid £24 (elevation) “iU1vL.

Options :

Al

40503626887. mmF—‘

40503626886.




40503626888. L] W
40503626889. L] ’_H

Question Number : 52 Question Id : 4050367363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :
40503626890. [
40503626891. fm

40503626892.



0

Question Number : 52 Question Id : 4050367363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

40503626893.

¥ ATFa § gl 1 S0 99 femmn T ¥ 1 R $1 e ¥ Smd gy S ansfadl § 9 HE 'eE
99 TR |

S

Options :

40503626890. [ 1)
40503626891. \
40503626892.

40503626893.



Question Number : 52 Question Id : 4050367363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
w2l sedls daqild GuEl £2 (top view) Gl 2y ©.  dlAl EuHl eddl, sesuot
wilgld=iyizl wid 22 Gd 224 (elevation) “ilUivil,

=

Options :

40503626890. ’Jﬂ
40503626891. m
40503626892. m
40503626893. m

Question Number : 53 Question Id : 4050367364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

e
17
158

,T

Options :
40503626894 [
40503626895. 1
40503626896. []

|
40503626897 []

Question Number : 53 Question Id : 4050367364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



WY ATRfd H T w1 S0 9vd fomm T ) d % e § Imd g S a3 4 wE avea
T e |

ing
1
iEN

Options :
40503626894. [
40503626895. ]
40503626896. [

|
40503626897. [

Question Number : 53 Question Id : 4050367364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



uwd wiglil szels daqaid Gul 24 (top view) cididsiHl wuey 6. dlzedl Eausl sddi, seauet
2wyl 24 112 G £24 (elevation) “AUIUAL

g
T
1
,»]\.

Options :
40503626894 []
40503626895. []
40503626896 []

|
40503626897, [

Question Number : 54 Question Id : 4050367365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

T

Sle
/[x

Options :

40503626898.

40503626899.

— = =4

40503626900.

40503626901.

Question Number : 54 Question Id : 4050367365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



e TR § Tl 1 S v fommn T g 9 # o § Sid gu I ofad § ° ue Ieym
T4 e |

Options :

40503626898.

40503626899.

40503626900. |

40503626901

Question Number : 54 Question Id : 4050367365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

ur 2Aiglasl sedls diqil-d Gl £ (top view) Gl wiey ©.  dlidl Eati esddl, sesust
wiglaziiHiel 2id A Gt £ (elevation) @HU1vL.

T

Olg
fl\.

Options :

40503626898.

40503626899.

— = =

40503626900. |

40503626901

Question Number : 55 Question Id : 4050367366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :

40503626902.

40503626903.

40503626904.

40503626905.

Question Number : 55 Question Id : 4050367366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



e SAfa W g w1 F9 gy fomm@ T | 9 6 fae H Swd gy I ArEfadl | 9 we 9
399 TR |

Y

Options :

Iz=Niim

40503626902.

40503626903.

40503626904.

40503626905.

[l

fr
I

I
[l

I

Question Number : 55 Question Id : 4050367366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



w2l sedls gl Gwl e (top view) ddlsidl wuey 6. dliAl Bl sddi, seaet
vyt Hiz]l 2u Wz Gid £ (elevation) @AU1vil.

Options :

40503626902. IF—‘

40503626903.

fr
i

40503626904.

e
]

40503626905.

Question Number : 56 Question Id : 4050367367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?



40503626906, L

40503626907, L=

]

40503626908, >

&5
40503626909. L~

Question Number : 56 Question Id : 4050367367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SATFHE J H FA H SAFHT F A G AF A H§ e H ST (sequence) T 2 S ?
DD & D
) |/<—/ =
W s L

Options :

40503626906, L

]

40503626908, />



S A
40503626909, i >

Question Number : 56 Question Id : 4050367367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
seclled 2 (A=Al 59 2ugld 2id 2ol ue 2uglhsi-l 2ell yel 5231

_,,- '::ﬁ. J:/ "'\\ II__..’{‘:‘. ;ﬂ
| sy == |
l"\._"_ A \‘< i b,

A
i "
by S

- n

Options :

40503626906, -

40503626907, -

ks |

40503626908, >/

N
40503626909, i >

Question Number : 57 Question Id : 4050367368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figure will complete the sequence of the three problem figures ?

[ A ]
[l ™. AN __;;'/ |
1 ., i - |
1 Sy i \_‘/ |
1 - i '- -
| B S ", |
L+ e

Options :

40503626910.

40503626911, V'

40503626912,

40503626913.

Question Number : 57 Question Id : 4050367368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SAHTE | H HA H AHT F AT G SAF A | e TR (sequence) T N S 2

[ A 1

AN
I \\\\ /Y .._____./ |
[ ™ SN <~ |
A ~ |
[ e Ly ", |

| . ™
.
- d .

Options :

40503626910.



40503626911, V'

40503626912,

40503626913.

Question Number : 57 Question Id : 4050367368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

secled whg(doimizl 59 wugld 2 2ol we wuglsil el yel s

I|I ", _,;." " \..____. il

! I'. _'\ a _-"'z_.'i .I"-. \K‘:x__ |

S ~J —
Options :
40503626910. v

40503626911. v

40503626912.



40503626913.

Question Number : 58 Question Id : 4050367369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?
TR TR
[ i : -
Options :

40503626914, —

L]

40503626915,

40503626916. @
40503626917. @

Question Number : 58 Question Id : 4050367369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



I SAFaA § | FH W SAH H1 T G AT H oTH F SFIHH (sequence) T B ST ?

Ul By gl ?

Options :
S

40503626914, —

L]

40503626915,

40503626916. @
40503626917. @

Question Number : 58 Question Id : 4050367369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

seclled lglaziHizl 58 wugld »uhd 290wt wugldzi-l fell yel sw21)

pl Lo ol ?

Options :



X

40503626914, —

L]

40503626915,

40503626916. @
40503626917. @

Question Number : 59 Question Id : 4050367370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?

o A ——
Rent A L
TN g _| = P ’_::'_,.-'1 ,_.-"._" A
T i P e W

L ol \-"-\.r' .
Options :
T
ey
40503626918, -
-.:_;” |'i;.;'

40503626919,



I

LA
40503626920. ~ —

=¥

-~ o

.-'-'-'-.
ey
.-'v':’ 1
% | A I|

40503626921.

Question Number : 59 Question Id : 4050367370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IT SAFHaE § F FA H SAFHT H AT I SAFE H e H SFIFH (sequence) T & S ?

e T
.'I\. — | . fl'l . \ . .-. .'I A
f “J _| l A T i | I "'.__ :- I'.
L A o~ T
\‘-.I H{._ \ [ — ;_‘\ " L

Wy \...d__.- _ / R .

."-'-"-
_,?/
."'\"" -
e

R

40503626921.



Question Number : 59 Question Id : 4050367370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

secled iglazinil 59 wugld »uta 29wt wugldzi-l Sell yel 5287

m— A ‘a\ e
e | T A A |
[ Y £ N
W T l LR ) oo '-."/,'
N C_J TE m

Options :

i
!

i

i ‘/f--
ey
40503626918, -

40503626919,

40503626920.

g 2
<

40503626921.

Question Number : 60 Question Id : 4050367371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figurr_- will cnmplr_-tr_- the sequence of the three prnhlr_-m figurc-s 7



Options :

40503626922.
40503626923,
40503626924,  —

40503626925.

Question Number : 60 Question Id : 4050367371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SATFHTE § H FF = SFHT H T G SAF i § o H ST (sequence) T 2 S ?

II 1 o, %

LR g ]
\ i
| e ./ i
-~ J _.-" kY i
P { ! \ ,
{ -

St n

Options :

40503626922.



) 3
r:__\_\ |
40503626923, |
.-"/ 5

i

40503626924,
_

AN

|

40503626925.

Question Number : 60 Question Id : 4050367371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

srelled 2 (2t 59 2ugld 2id el we 2ugliei-l 2ol yel 5221

s s § .'f\*- %
. J P ?
| ke 5o > 8
Options :
_ ' ,'_.:'_’I
40503626922.
w"'/r I'-
=
U

40503626923.  —



40503626924,  —

40503626925.

Question Number : 61 Question Id : 4050367372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

10 Downing Street is the residence of which
one of the following ?

Options :

40503626926. President of America

40503626927 Prime Minister of England

40503626928, L resident of France

40503626929 President of Sri Lanka

Question Number : 61 Question Id : 4050367372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
10 == 2 frfatad 8§ 9 feae fam
€7

Options :



40503626926, TTHHCH1 o T

40503626927, £C1S  THH A
40503626928, ~TH h EATC

40503626929, Arciel & AT

Question Number : 61 Question Id : 4050367372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
10 51621 2le #1 AlAmial sid R 2204
Y,

Options :

40503626926, TG

i :
40503626027, 87AmS U MEBHAL

4050362602, Bttt gl

glldsi 2gula
40503626929. -

Question Number : 62 Question Id : 4050367373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the Northern Hmﬂsphere the winter sun
sets in which one of the ff}llnwing

directions 7
Options :

40503626930, TNorth East

40503626931, [North West

40503626932, “outh East

40503626933, “0uth West

Question Number : 62 Question Id : 4050367373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

I Tend | \AfEAl @ g FEfataa § 9
o faan # 5@ 272

Options :
40503626930, S0

40503626931, S0¢ TIFHEH

40503626932, a1 IH

40503626933, ST WY



Question Number : 62 Question Id : 4050367373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Gril slleueli RrnouAl Yo A2zl 59 (B
SIEE RN
Options :
- . r
40503626930, R 44

: :
40503626931, SR WERRL

T r
40503626932. eletel kN

8 a e
40503626933, EAL MR

Question Number : 63 Question Id : 4050367374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The famous Badrinath temple is located in
which one of the following States ?

Options :
40503626934, Kerala
40503626935, amil Nadu

40503626936, £1ssam

40503626937, Uttarakhand



Question Number : 63 Question Id : 4050367374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
wfos aEie e frefafaa § 4 g =g 4
e 27

Options :

40503626934, T

40503626935. B

40503626936, T4

40503626937, SHUEE

Question Number : 63 Question Id : 4050367374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
vt oLl R ARkl 5412l e
517
Options :
e
40503626934.

- N
40503626935. Ul 3

40503626936, “UHM

40503626937, ZTRIMS



Question Number : 64 Question Id : 4050367375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the thickness of a one brick thick
wall ?

Options :

40503626938. 45

40503626939, 9"
40503626940, 13"

40503626941, 12"

Question Number : 64 Question Id : 4050367375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TF 32 AP AR F AR e a7 7
Options :

40503626938. 45

40503626939. 9"

40503626940, 135"

40503626941, 12"



Question Number : 64 Question Id : 4050367375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
w5 H2 sasl gl sasd Sedl €47

Options :

40503626938, +2

40503626939. 9"

40503626940, 13-

40503626941, 12"

Question Number : 65 Question Id : 4050367376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Why is the depth of a beam normally more
than its width ?

Options :

40503626942, Horizontal Force

40503626943, Momentum

Moment of Inertia
40503626944.

40503626945, Balance



Question Number : 65 Question Id : 4050367376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TS S1H Hi TS GH 9 9 THHT =9e 9

Ay 41 & 2
Options :
40503626942, a9 9

40503626943. :

40503626944, < HE TR

40503626945, 18

Question Number : 65 Question Id : 4050367376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
245 efly (beam) -l GRS 23 e el weloud
53l SR 5 Cld B

Options :

glldsy 11 (Horizontal Force)
40503626942.

40503626943 P (Momentum)

s £ 4 _ .
40503626944 srSeeiel AEHIEL (Moment of Inertia)



Hdd (Balance)
40503626945.  ~

Question Number : 66 Question Id : 4050367377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is the famous Nolre Dame Cathedral
which caught fire recently located ?
Options :

40503626946, Laris

40503626947, 11ague

40503626948, Yenice

40503626949, Rome

Question Number : 66 Question Id : 4050367377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fog e =9 FUA Fe ¢ fa9d 2 & o
I T 6 ?
Options :

40503626946. e

=

40503626947, &1

40503626948. L



=

40503626949, 17

Question Number : 66 Question Id : 4050367377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2151 1M vgdl sl 2091 Arll el d uBRig AR
U B Al 2 )
Options :
40503626946, 1R

40503626947, &L
40503626948.

40503626949.

Question Number : 67 Question Id : 4050367378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The concept of CharBagh garden found in
which one of the following garden

concepts ?
Options :
40503626950, Christian

40503626951, Chinese



40503626952, 1Slamic

40503626953, Zen

Question Number : 67 Question Id : 4050367378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FRET 38 F AFHRN FA=fatEg § 9 fF5g
¥ gt ST 7 ?

Options :

[ v

40503626950 %

[ ls

40503626951.

[}

40503626952, TN

40503626953, 1

Question Number : 67 Question Id : 4050367378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Qleel G (eel) l vAd (concept)
eAl2lrArminAl 541 Geu VA sdel 4L 5]
Options :

40503626950, Ll



40503626951, L

40503626952, S¥ALl

40503626953, >t (£en)

Question Number : 68 Question Id : 4050367379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Where is the Bara Imambara located ?

Options :

40503626954, Kolkata

40503626955, Mumbai

40503626956, [ 1yderabad

40503626957, Lucknow

Question Number : 68 Question Id : 4050367379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR gHMETS frAfatad 8 9 % fum 22
Options :

40503626954.

40503626955. <l



40503626956. e

40503626957, 1

Question Number : 68 Question Id : 4050367379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Gzl SHHAIRL (Bara Imambara) 54 2194 &7
Options :

e
40503626954, L=

40503626955. -

40503626956, S

40503626957, AvrG

Question Number : 69 Question Id : 4050367380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the colors reflects the

maximum Iight ?

Options :
40503626958, Red

40503626959, Green



40503626960, YVhite

40503626961, Black

Question Number : 69 Question Id : 4050367380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
F | T SATIHTH FohTe I ST 2
Options :

40503626958. :

40503626959, &

40503626960. "

40503626961 1

Question Number : 69 Question Id : 4050367380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AL 540 291, HeEr Ustel veldd 52 67
Options :
I | =
40503626958,

40503626959, Sl



40503626960, =

40503626961, U

Question Number : 70 Question Id : 4050367381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following colors denotes
equality ?

Options :

40503626962, YVhite

40503626963, DBlue

40503626964, 1Nligo

40503626965, Red

Question Number : 70 Question Id : 4050367381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 & F = | T FHE FI S0 S ?
Options :

40503626962. qFe

L

40503626963, TN



40503626964, 2=

40503626965, <1<l

Question Number : 70 Question Id : 4050367381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AliArHiAL £41 391 YAl B 57
Options :

40503626962, 5E
40503626963, “UEll

40503626964, il

40503626965, 4

Question Number : 71 Question Id : 4050367382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following describes the
texture of a hand made brick ?

Options :
40503626966, >mooth

40503626967, S1OSSY



40503626968, Rough

40503626969, OLKY

Question Number : 71 Question Id : 4050367382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 4 4 F9-91 % Y 9§ =4 22 F 69
1 T FLA 2 7

Options :

40503626966, 7

40503626967, HTER
40503626968. !

40503626969, 1

Question Number : 71 Question Id : 4050367382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Azl sl e 9b eAdd Jadl 2suuR
(texture) + 4Gl 52 57

Options :

rp M

40503626966. dlﬂ

40503626967, AH5ER



40503626968, T3

40503626969, A

Question Number : 72 Question Id : 4050367383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What are shafts used for in buildings ?

Options :

40503626970, beauty

40503626971 {_f}ncealing pipes

40503626972. Structural strength

40503626973, >@bility

Question Number : 72 Question Id : 4050367383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
THRAT § I fRae fern swEm R < 22
Options :

40503626970. g

40503626971, &1 g9 F TeQ



40503626972, TTHATICHH 4

40503626973.

Question Number : 72 Question Id : 4050367383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SHRAML 2052 (shaft) AL GuleL 2L W2 s3e
B 65
Options :
40503626970, <!

40503626971, Pl GHIAAL

o
40503626972, el Aereidl

R3adL
40503626973.

Question Number : 73 Question Id : 4050367384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the most

suitable material for toilet floors ?
Options :
40503626974, L olished granite



40503626975, [Non skid tiles

40503626976, Wood

40503626977, —2TPet

Question Number : 73 Question Id : 4050367384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 8 9 9 W vieeE F w5 E fae el
IUIF HHIT & ?

Options :

40503626974. X1 A IRe

40503626975, W1 T¥hE <TEeH

40503626976. :

i~y

40503626977.

Question Number : 73 Question Id : 4050367384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AlzlrArizll 54l wge] ol Midaoe we el
48 2501 8]

Options :

40503626974, WAL 536 ArLDe



40503626975, e €l dtell 218e4 (Non skid tiles)

L
40503626976, "3

40503626977, "Wl (Carpet)

Question Number : 74 Question Id : 4050367385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who amongst the following designed
Indian Institute of Management ?

Options :
40503626978 Charles Correa

H d
40503626979, B-V- Doshi

40503626980, Louis Kahn

40503626981, A-F- Kanvinde

Question Number : 74 Question Id : 4050367385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fafafas 9§ 9 e IRAE 9697 951 55
[ T [ E:rr?

Options :



40503626978, 1o H FILA

40503626979, M- =

40503626980, e FIE

40503626981, & - IS

Question Number : 74 Question Id : 4050367385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gedlin §e2lzg2 2lls Aelsrviredl 2l (design)
izl siel 5417

Options :

40503626978, A slR2u

40503626979, “llell &l

40503626980, FeH slart

40503626981, L. silds

Question Number : 75 Question Id : 4050367386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who amongst the following designed The
Falling Waters ?



Options :

40503626982, Frank Ghery

40503626983, Zaha Hadid
40503626984 MNorman Foster

40503626085, Frank LIG}-‘d W rig_ht

Question Number : 75 Question Id : 4050367386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TrefefEa 5 4 e wife ared =1 fesma
T = ?

Options :

40503626982, T HIL
40503626983, el BAl%
40503626984, 1T THIE

40503626085, T IS g2

Question Number : 75 Question Id : 4050367386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



s <lledd (falling Waters) <Al 224t (design)
=izl siel 5417
Options :
40503626982, ¢75 %L

40503626983, V€L €ELE
40503626084, T 3R<R

- '\_ ¥ f"-
bes digs 22

40503626985.

Drawing
Section Id : 405036260
Section Number : 3
Section type : Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036542
Question Shuffling Allowed : No

Question Number : 76 Question Id : 4050367387 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50



In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
rectangles. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so

that it becomes visually exciting,.

Question Number : 76 Question Id : 4050367387 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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Question Number : 76 Question Id : 4050367387 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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Question Number : 77 Question Id : 4050367388 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50



Draw from imagination a highwa}f on
which cars and trucks are moving in both
direcions.

OR
Draw from imagination an interior of
cinema hall.

OR

Draw from memory your best teachers face.

Question Number : 77 Question Id : 4050367388 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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Question Number : 77 Question Id : 4050367388 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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